
0.01

0.01

0.01 0.01

0.01 0.01



0.01 0.01

0.01 0.01



















































EF = G + H tanI
EFGI



G I

G I

G I

G I
G I

G I
G I
G I

G I
G I
G I

G I



kJ

kL %









±





� 

� 

� 

� 

� 

� 

� � 







N +  +   O

   

   



= N +  +   O

   

   



N +  +   O !

N +  +   O !

( ) + ( ) '

N +  +   O !



N +  +   O !

( ) + ( ) '

   

!



!

   

!

 
  

 !
  !

   



N +  +   O   !

N +  +   O   !

( ) + ( ) '

   

  



!

!
   

  = 500





!
 

  



!
 

  



!
 

  





!
 

  



!
 

  



   

   

   !

   



  



   

   

   !

   



  



   

   

   !

   



  





   

   

   !

     



   

   

   !

     



































































 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 



 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

















 









































 

















































































































 

 

 



PQ

PQ =

PQ



18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

0 2 4 6 8 10

O
.P
.
(m

)

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

0 20 40 60 80 100

O
.P
.
(m

)

(kN/m2)















































 

 







 

 





1.1

0.0

1.0

2.0

3.0

4.0

5.0

4.4N/mm2

1.2

0.0

1.0

2.0

3.0

4.0

5.0

4.4N/mm2



1.2

0.0

1.0

2.0

3.0

4.0

5.0

4.4N/mm2

1.3

0.0

1.0

2.0

3.0

4.0

5.0

4.4N/mm2



0.8

0

3

6

9

12

15

13.7N/mm2

2.0

0.0

3.0

6.0

9.0

12.0

15.0

11.4N/mm2



1.6

0.0

3.0

6.0

9.0

12.0

15.0

11.4N/mm2

2.0

0.0

3.0

6.0

9.0

12.0

15.0

13.7N/mm2



2.2

0.0

3.0

6.0

9.0

12.0

15.0

11.4N/mm2







Ss Sd





















 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 









 



 

  



 

 





 

 

 

 



 

 

 

 



 



 



 

 

  

   

   

   

 

 

 

 

 



 





 



 

 

 

 

 

 

 



 



 





 !



 ! = "# = 0.4 × 270 = 108

 $

 

 !

 ! 

" 

# 



%

 ! &

% =  !& = 108 × 200 = 21600

%  

 =
%

$
' = 21600/0.4 × 1.8 = 97200

()

()* +!

() =
 

,-
= 97200/353 = 275.4 465

+! =
 

:&
= 97200/;200 × 75< = 6.48 0.4

 ! 

% 

& 

   

$ 

' 

% 

()  

,- 

+!  

:  



 >  

 >

 > =
 

?
= 97200/0.77 = 126234

?  



 

  













  



 



 

 



 

 

 

  



 

 



 

 

 



 

ü 

ü 

ü 

ü 

ü 

ü 

 

  



 

ü 

ü 

ü 

 

  



 

 

 

 

 

 

  



 

 

 

  



 



 

 

 

  



 

 

 



 

 

ü 

ü 

ü 

  



 

ü 

ü 

ü 

  



 

ü 

ü 

ü 

 



 

ü 

ü 

ü 

  



 

ü 

ü 

ü 

  



 

ü 

ü 

ü 

  



 

 



 



 



 



 



 



 



 

 

 



 

 

 

  

  

 

 



 

  



 

 

 

 

 

 

 

Ebr 180.670-15.109*ln(t)

70 

Ebr 133.158-13.803*ln(t)

100 

Ebr 145.880-20.296*ln(t)

120 



 

 

 

 

 

 

Ebr 170.30011.199*ln(t)

Ebr 162.219-11.760*ln(t)

Ebr 153.885-12.339*ln(t)

Ebr

0

5

10

15

20

25

30



 

300

350

400

450

500

23 -20 -25 -30

 



 

Ebr 131.440-5.812*ln(t)

Ebr



 



 



 



 



 



 

 

 

 

 

 



 



 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 



 



 

� 

� 

� 

� 

� 

� 



 



 



 

 

  



 

 



 



 

 

 

  



 

ü 

ü 

ü 

  



 

ü 

ü 

ü 

  



 

ü 

ü 

ü 

 



 

 



 



 



 



 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 













Ss Sd

















 !
 ! = "#${ !(%&),  !'(%*)}

 !(%&)

 !'(%*)

 !
 ! = 2 ×"#${ !(%&),  !'(%*),  !''(%+)}

 !(%&)

 !'(%*)

 !''(%+)

 !(%&)

 '! (%*)

 !

"#$  ! %& ,  !' %* ,  !'' %+

"#$  ! %& ,  !' %* ,  !'' %+





 !
 ! = "#${ !(%&),  !'(%*),  !''(%+)} - abs. /01!3

 !(%&)

 !'(%*)

 !''(%+)

 /01!

 !
 ! = "#${ !(%&),  !'(%*),  !''(%+)} - 2 × abs. /01!3

 !(%&)

 !'(%*)

 !''(%+)

 /01!

 !

 !





 !
 ! = "#${ !(%&),  !'(%*)} - abs. /01!3

 !(%&)

 !'(%*)

 /01!

 !
 ! = "#${ !(%&),  !'(%*),  !''(%+)} - 2 × abs. /01!3

 !(%&)

 !'(%*)

 !''(%+)

 /01!

 !(%&)

 '! (%*)

 !

 !





 45

 45 = "#$. 45(%&),  45'(%*),  45''(%+)3

 45(%&)

 45'(%*)

 45''(%+)

 65

 65 = "#$. 65(%&),  65'(%*),  65''(%+)3

 65(%&)

 65'(%*)

 65''(%+)

 45  65
 45'  65 '
 45 ''  65 ''

 45 ''(%+)

 45'(%*)

 45(%&)

 65 ''(%+)

 65 '(%*)

 65(%&)







































�

�

�

�

�

�

�





































 







































7/ = 8 - 9'tan:

7/

8

:

8 :

8 :

8 :

8 :

8 :

8 :

8 :

8 :

8 :

8 :



k;

k<
>




















































































































